Chemistry					Name ____________________________________	
Reference Sheet – Reaction Rate Data

Directions:	Here we have a table of experimental results concerning a reaction carried out at 			different concentrations.   Determine the rate of change at each of the time intervals 			and series asked for below.  NOTE:  Limestone is Calcium Carbonate.  The products 			contain water (l) and Carbon Dioxide (g).
[image: http://www.docbrown.info/page03/3_31rates/results1.gif]
1.	Write out the unbalanced equation	__________________________________________

2.	Write out the balanced equation	__________________________________________

3.	What is the rate of change of the CO2 in the 4 series between 2 minutes and 4 minutes ?

	____________		____________		____________		____________
	Series 1			Series 2			Series 3			Series 4







4.	What is the rate of change of the CO2 in the 4 series between 10 minutes and 12 minutes ?

	____________		____________		____________		____________
	Series 1			Series 2			Series 3			Series 4








5.	What is the rate of change of the H2O in the 4 series between 10 minutes and 12 minutes ?

	____________		____________		____________		____________
	Series 1			Series 2			Series 3			Series 4




6.	What is the rate of change of the CaCO3  in the 4 series between 10 minutes and 12 minutes ?

	____________		____________		____________		____________
	Series 1			Series 2			Series 3			Series 4

[bookmark: _GoBack]


7.	What is the rate of change of the HCl in the 4 series between 10 minutes and 12 minutes ?

	____________		____________		____________		____________
	Series 1			Series 2			Series 3			Series 4
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1 Rates of reaction|Typical results for hydrochloric acid/limestone reaction
2 [Following a reaction by measuring the volume of gas evolved as formed {one reactant
] [Volume of gas formed fot four concentrations of the acid: _-ttsed up)
4 series 1 series 4
5 minutes 0.5 molidm3 [1.0 moldn 2.0 molidm3
6 0 0.0] 0.0] 0.0]
i 1 50 0.0 200
8 2 10.0 19.5 0.0
9 3 150 290 59.0
10 1 200 385 780
11 5 250 180 86.0
12 6 295 585 910
13 7 340 7.0 9%.0
14 8 385 730 97.0
15 9 130 78.0 9.0
16 0| 475 825 99.0
17 [ 515 855 995
18 12| 5.0 885 100.0
19 3] 59.5 910 100.0
Eil ] 3.0 930 100.0
21 15| 6.0 95.0 100.0
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